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Introduction

1.1 Objectives
£ EXA= Public Transportation System2| System TestE %

of, o2 22 588 A=t

1) Public Transportation System@| Test case®?} 2} caseOf &

Zitgtnt Hlm =HQlotrt,
1.2 References
System Test Plan.

System test case specification

2.1 Test case specification identifier
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| Identifier | Input specification

PTS.STC.000.000

PTS.STC.000.001
PTS.STC.000.002
PTS.STC.001.000
PTS.STC.001.001
PTS.STC.001.002
PTS.STC.001.003
PTS.STC.001.004
PTS.STC.001.005
PTS.STC.001.006
PTS.STC.001.007
PTS.STC.001.008
PTS.STC.001.009
PTS.STC.002.000
PTS.STC.002.001
PTS.STC.002.002
PTS.STC.002.003
PTS.STC.002.004
PTS.STC.002.005
PTS.STC.002.006
PTS.STC.002.007
PTS.STC.002.008
PTS.STC.002.009
PTS.STC.003.000
PTS.STC.003.001
PTS.STC.003.002
PTS.STC.003.003
PTS.STC.004.000
PTS.STC.004.001
PTS.STC.004.002
PTS.STC.004.003
PTS.STC.004.004

PTS.STC.004.005

E4]

=

Zz=2%3 A3 = 180=& Z|C|IZ.

== AW = 180x=E Z|CHE
Z=0% AW = 1= 7|CHE!
180=& 7Z|CHE!

Ft= EH1 (Bus IN) = 180=x=E& Z|CI&!
Zt= EH O (Metro IN)Z= 180=E& Z|CtZ

BusOllA] Metro=Z 2t

o

13| (FE7I2 2 80| 3tXxh= 180xE= 7|Ctz!

BusOll Al MetroZ 2tS 12| (Bus =7t = 1003)F 180=E& Z|CHE
%asmlkl Metro2 S 13|(Metro =712 = 300_])%F 180=& 7Z|Ct
MetroOllAl BusZ = 13|(E7I2= 80| 3tXh= 180=E& Z|CIZ!

2SS 1Z|(Metro =723 200_)= 180=E& 7|C}

MetroOl| Al BusZ
2

MetroOll Al BusZ EFS 13|(Bus &7t 3 1003)%= 180=E& Z|C}&

S Lt Message O|T O] Tag

Bus OUT EH1 = 152 O|LH Metro IN Ef1

Metro OUT Ef1 = 152 O|LH Bus IN Ef1

Metro IN EH1 = 0O| E4F OUT 152 O|Ll Bus IN Ef1
Bus IN EH1 = O] E4F OUT 152 O|L} Metro IN Ef1
Bus OUT EH1 = 152 = Metro IN EH1

Metro OUT Ef1 = 152 = Bus IN Ef1

Bus OUT EH1 = 152 O|LH Metro IN Ef1 Metro OUT Ef1 = 15
2= O|Lf BUS IN

Metro OUT Ef = 15=
2= O|LH Metro IN

Bus OUT Ef1 = 15=% O]
2 = BUS IN

Metro OUT Ef1 = 15=
X T Metro IN

MetroOll Al Bus2

O|Lj BUS IN EH1 BUS OUT Ef1 = 15
L Metro IN Ef1 Metro OUT Ef1 = 15

O|LH BUS IN EH1 BUS OUT Ef1 = 15

= 30= O|=

SHx}

MetroOll Al BusZ= = g0=x O|= B}t

= 30= O|™ Xt

MetroOll Al Bus&2

MetroOllA| BusZ &5 = 35z O|= S}X}

Z=2% 4 = Bus BS
Z=2% AWM = Metro EFS

EF
=

BusOll Al SIXF = 152 O|= Metro

o

EF
=

MetroOllA| StAF = 152 O|= Bus

o

BusOilA{ O] E4F Out = CHA| Bus IN

MetroOll A O] & 2&F Out & CHA| Metro IN
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PTS.STC.005.000

PTS.STC.005.001

PTS.STC.006.000

PTS.STC.006.001

PTS.STC.006.002

PTS.STC.006.003

PTS.STC.006.004

PTS.STC.006.005

PTS.STC.007.000

PTS.STC.007.001

PTS.STC.007.002

PTS.STC.007.003

PTS.STC.008.000

PTS.STC.008.001

PTS.STC.008.002

PTS.STC.008.003

PTS.STC.009.000

PTS.STC.010.000

PTS.STC.010.001

PTS.STC.011.000

PTS.STC.011.001

PTS.STC.011.002

PTS.STC.011.003

PTS.STC.011.004

PTS.STC.012.000

PTS.STC.012.001

PTS.STC.013.000

PTS.STC.013.001

PTS.STC.013.002
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o Ef 7, O] " @2 A0 Z2 105003}, X|
250

Ot )ELt 2= 3t=5

105022 £7|3} BUS IN Ef1 & 30% O|F OUT Ef

H Bt StE)
i

X7 ZHUE 1050¥ 22 £7|3} Metro IN EfT = 28 AHF X[ =2
oM ouT Ef1

X7| 2N 1650222 £7|3tBUSIN Ef1 &
7 Metro2 25 IN OUT & Metro IN

£7|2U2 1750222 £7|3t Metro IN Ef = 1 HE X[t 2
0l ouUT Ef 1 BusE £ IN OUT & Bus IN

X7| 2N 1050222 £7|3tBUS IN Efa &
7 Metro2 25 IN

XI7|2HE 105022 £7|3} Metro IN Ef T = 2 AHE x| 2
0l oUT Ef 1 BusZ &5 IN

XI|2HUL 1650222 X7|3} BUS IN Ef1 &=
7 Metro2 25 IN

XI|2HUL 1750222 X7|3} Metro IN Ef = 1
0l ouUT Ef 1 BusZ =5 IN

StE@EE)0| X[ 5| Bus OUT

30% 0| ouT Ej

30% 0| ouT Ej

30 O|T OUT E}f
A R =
SIZ(32)0| x| F| Metro OUT
SH£(38)0l x| 5| Bus IN
StE@EE)0| X[ F Metro IN
StR(EE)E 7|CH

A CH7| N OUT 33| EHE Ef
X|stE THZ7| IN OUT 33| gt
o> AL

HA &, stAt 13| X|SHE &, 84t 13| 85 13 Efa

Ef2dth->2, 2588, &

A

2 5, A 13] B

X3t &, stAt 13| Ef

H A SHAF Ef
X|&H& SHAF B

HA &, St 13] = 328 7|CHE.

X|eHe &, sttt 13 = 388 7|CHE.

=
S,

2ol =, X|5tEA

E
H

|> [>

§
=t

X|StE &, StAF 13| = 322 7|CHE. EHZD &0l 5, A0 A

Atz &5 T 18AHE X FolM stAt 322 7|CHE
X|etE &, St 13| = 322 7|CHE. o= Ef SFX| %1 328
7|cha
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Bus = 1050, Metro = 0
oo

Bus = 0, Metro = 1050
HMZI SRR geg
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Metro = 1058 Bus = 92
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2.2 Test items

<Test case specification identifier H|O|& & x>

2.3 Input specifications

<Test case specification identifier E|O|&

2.4 Output specifications

<Test case specification identifier H|0|& &=x>

3 Environmental needs
Testing Environmental :

- Windows 8.1k 64bit.(Cmd)
- Cygwin 64 terminal
4 System test summary report

4.1  Test summary report identifier

| Identifier | Input specification Output specification | Result |

PTS.STC.000.000 =212 A% = 180=Z2 7|Ct2. FIE O, CH7| SXMZAFH 7|20  Pass
MO|&= W7t SiLt SSZE 20l
PTS.STC.000.001 =272 A3 = 180=Z 7|Ct2! Display0j A SW7 S242HS 01 Pass
PTS.STC.000.002 =20 A4 $ 1=5 7|0+ 80| S5t =0 Pass
PTS.STC.001.000 180=%Z 7|Ct& FAO| ATE| =712 20 Pass
PTS.STC.001.001 FtE Ef (BusIN) = 180== 7|Ct2! ZALZ T Pass
Bus = 1050, Metro = 0
PTS.STC.001.002 7= Ef1(Metro IN)= 180=Z 7|CtE HALZ Dt Pass
Metro = 1050, Bus =0
PTS.STC.001.003 BusOjAf MetroZ St 13|(E71Q2 20| 3RN= HAZED} Pass
180=Z2 7|Ct& Bus = 1050, Metro = 0
PTS.STC.001.004 BusOjA{ MetroZ =& 13|(Metro 7122 3008) FArZED Fail
= 180== 7|t Bus = 1104 Metro = 245
PTS.STC.001.005 Metro0jA BusZ == 13|(F7t23 20| stAH=  FAZED} Pass
180=2 7|3 Metro = 1050, Bus = 0
PTS.STC.001.006 Metro0jA{ BusZ == 13|(Metro 7123 2008) FArZEIb Pass
= 180=Z 7|03 Metro = 1250, Bus = 0
PTS.STC.001.007 MetroOjA{ BusZ =t= 13|(Bus =72 1008)=  FAZIt Fail
180=% 7|Ct&! Metro = 1058 Bus = 92
PTS.STC.002.000 BusOUT Ef] = 15= O|L} Metro IN Ef1 Metro €222 08 Pass
PTS.STC.002.001 Metro OUT E§1 = 15= O|L§ BusIN Ef1 Bus =2 = 0¢ Pass
PTS.STC.002.002 Metro IN Ef1 = O] &4t OUT 15= O|LY§ Bus IN O] FA Q2M2|(FEQ2X Pass
Ej
PTS.STC.002.003 995_ IN Ef11 = 0] &4 OUT 15= O|L} Metro IN 0| At QX2 (BEL2X Fail
[HIAE Q) T1 Team 6



PTS.STC.002.004

PTS.STC.002.005

PTS.STC.002.006

PTS.STC.002.007

PTS.STC.002.008

PTS.STC.002.009

PTS.STC.003.000

PTS.STC.003.001

PTS.STC.003.002

PTS.STC.003.003

PTS.STC.004.000

PTS.STC.004.001

PTS.STC.004.002

PTS.STC.004.003

PTS.STC.004.004

PTS.STC.005.000

PTS.STC.005.001

PTS.STC.006.000

PTS.STC.006.001

PTS.STC.006.003

PTS.STC.006.004

PTS.STC.006.005

PTS.STC.007.000

PTS.STC.007.001

PTS.STC.007.002

PTS.STC.007.003

PTS.STC.008.000

| PTS.STC.008.001

[

PTS.STC.008.002

HAE )

Bus OUT Efj1 = 15= = Metro IN Ej1
Metro OUT Ej] = 152 = BusIN Ej1

Bus OUT Ef = 15= O|L§ Metro IN Ef Metro
OUT Efj1 = 15z O|Lf BUS IN

Metro OUT E§21 = 152 O|LY BUS IN Ef BUS
OUT E§ = 15= O|L§ Metro IN

Bus OUT Ef = 15= O|L§ Metro IN Ef1 Metro
OUT Ef1 = 15= % BUSIN

Metro OUT E§11 = 15= O|LK BUS IN E§1 BUS
OUT E§1 = 15= = Metro IN

Metro0j A BusZ $t& = 30= 0|= 3}X}
MetroOj Aj BusZ & = 60X O|= 31&t
Metro0jA{ BusZ $t& = 30= O|F 3}k

MetroOjA| Bus=E =S = 35= O|= SH&t

[F1

2T

1ot

Bus &

of

=20 4 = Metro 5
BusOjA{ 3tXt = 15= O|= Metro &
Metro0j A{ 3}At = 15= O|= Bus ©=

MetroOjA{ O] F 4t Out = CHA| Metro IN

WEFIE FHI|E D20 A= TE HIEU=
B2

HWEFIE FHI|E 0] A= BE I 0=
B2

WEFE FH7|8 Do) 0ALE =7|5t F B

HAEFEINS G4 B, 0] 4 23 (H22 32
10500|3t, X|3HE 2] 9 12500|3H)ELC £F st
=

Z=7|2%E 1050222 =7|35} Metro IN Ef1 = 2
BAZ XL X0IA OUT Ef

7| 3% 1650 = =7|3 BUSIN Ef1 = 30
Z= 0|7 OUT Ej] Metro= == IN OUT = Metro
IN

ZI|FUS 175022 =7|5tMetroIN EfI = 1
BAHZE X 20§A OUT Ef Bus= == IN OUT

=Bus IN

ZI7|3E=S 10508 = =7|3 BUSIN Ef = 30
Z= 0|7 OUT Ef Metro= == IN

Z7|SUES 1250822 =7|35} Metro IN Ej1 = 2
BAZ XS 20IA OUT Ef 1 Bus= =5 IN

=7)12%ES 165002 =7|3} BUS IN E§11 = 30
= 0|7 OUT E§ MetroZ 3t IN

=7)1BUS 175002 =7|3} Metro IN E§1 = 1
BAZE XZ Z20iA OUT Ej Bus= == IN
SHE(38)0| X| L+ 5 Bus OUT

SHE(32)0] X 5| Metro OUT

SHE(3)0] K|t 5 BusIN

T1 Team

Metro 7| 222

Bus 7|23

OiX|2 Bus 223 08
OpX| 2t Metro S22 2 08

DHX| 2} Bus ©$29 3 10508
=Hs23X

DOFX|SF Metro E©H22 32 10508
FEHs23X

Bus OUT 232 1008

Bus OUT 23 2008
BusOUT 23 08
Bus OUT 22 1008
Bus 23 1050
Metro 23 10508
Metro 23 10508

Bus 23 10508

2= HAIX|,

TH0f 7| 2 EI2ALt Sl
23 2= HAIX|,
TH0] 7| 2 EIAL SOl

23 £= HAX|,
o] 7| E52ALt ol
23 2= HAIX|,

Th0f 7|25 AL BOI

23 £ KA,
o0 7|2 S ALt Bl

23 & HAX|,
o] 7| S5 ALt
23 X HAX|,
oruo) 7| 25 AL =l

2 |
s B

ol

-

B s ES

O] HAHX2| 0|22 OUT E7ts0
AIR]
0] &AHX2| 0|22 OUT £7ts 0
AR

O] B 3% 23
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Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass
Pass

Pass

Pass

Pass

Pass

Pass
Fail
Pass
Pass
Fail
Fail

Pass
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PTS.STC.008.003 3}E(3£)0] XLt 5| Metro IN 0] ™A 308 25 Fail
PTS.STC.009.000 SIE(3E)S 7|CH& HALZETE4 20l Pass
PTS.STC.010.000 H{A CH2t7| IN OUT 33| 8t= Ef1 Ci2t7| I =H01(6Z) COUNT=6 Pass
ORS
PTS.STC.010.001 X|3t& CH27| IN OUT 33| 8t Ef(ZHOH->ZHY,  CHabo| o =0l Pass
ZY->3d, S->2)
PTS.STC.011.000 H = &, StAt 13] X|5HE &, otAt 13| 2h5 13| B  FrE mpe0] B2 SX}, B2 SHA;,  Pass
2! X|3HE &4, X|5HE SHAL,
HA S%, HA 3%t 7|2 20l
PTS.STC.011.001 HA =, StXt 13| Ef FIE OO0 A &Kt B{A SHX 7| Pass
£ =0l
PTS.STC.011.002 X|3}& &, 3t&t 13] E§1 7S DO X|3HE £%t X|3H% 3 Pass
X 7|12 2Ol
PTS.STC.011.003 H{A 3tXt E§ FIE mU0] HA SHA 7|2 =01 Pass
PTS.STC.011.004 X|5}H StAt Ef1 FIE MmU0] X|5+E SHA 7|2 201 Pass
PTS.STC.012.000 HA &, 31Xt 13] = 382 7|02l HALZETE Pass
Bus = 1050, Metro = 0
PTS.STC.012.001 X|5}H &, StAt 13] = 322 7|03l HAZEDTE Pass
Bus = 0, Metro = 1050
PISSTCO13000 #£ & 3ixt 13| £ 328 7|02 TUZEL Hel  THFW<REX g2 8 Fa
XI‘PQOIM HAZ 3t £ 30= 0|F 51t 38  FAES
£ 7|08 Metro = 1058 Bus = 92
PTS.STC013.001 X|3pH &, 3i%t 13| 3 328 7|CHY. MAIZD & BMZIVLSHEX 228 8O Fail
ol %, Hi*ow XI‘Psi S FIZAZ AL G Fuags
0|A-| StAL 322 7|CHE Bus = 1104 Metro = 245
PTS.STC.013.002 xr'}g , SHAH 18] £ 328 7|CHEl. 0| EfO 3 FA ZIh £XEX) X2 #O Pass

X 270 3¥8 JIcHe BMZD

Riic = N Metrn - N

4.2  Evaluation

PTS.STC.001.004 / PTS.STC.001.007 : =HIE ™4t A7t ot o & =Xt7t L&

PTS.STC.002.003 : O] Mt X2 EEO|Lt 2H&5HE|

PTS.STC.007.001 : 5 £F HA|X|7t OtH &5 d3F

PTS.STC.008.000 / PTS.STC.008.001 : =7ts OIA[X|[7} Ot =213 F&

PTS.STC.008.003 : O] 4t SHO| Ete|X| A4S

242

PTS.STC.013.000 / PTS.STC.013.001 : SHIE At A Z =AH7E LS

T1 Team 8

UL
[>
ly
o
il



